M(Call c,o,0,)

My(s, (0,04, V))

let ((p1,...p2),Db) funinfo(c.n)

9p = U (pi, M(c.aj,0,0¢))
1<i<n
(0'/70';” V) = Mp(b’apaag)
in (v,0g)
(0,04, M(r.e,0Uoyg)) if s=Return r

A v =NOVAL

let o' U a;, = M(s,0 Uoy)

in  (o',04,v)

if v= NOVAL

(0,0¢,V) otherwise



allocate(dy, ..., dk, i, y) = let v = ~ U {{vi,a+i—1)}

1<i<k

wo= po | {a+i-1)}
0<i<k

' = a+k



o

——
M(Call c,v, u,a,fp) = let o' = activate(c.n,(M(c.a1,0),
...M(c.ak,0),0)
(¢”,v) = M(bodyMap(c.n),o’)
o = deactivate(c.n,c”)
in  (v,0")

activate(id, (v1,...w),0) = let +',u',a = allocate(dlink, paramMap(id), o)
(doesn’t change fp)
u = p'U{{a,fp),{(a+1,wi),...{a+ k,vi)}
——
dlink
fpf = a
in (v, 1,4, fp;)
deactivate(id,oc) = let o' = pu(fp)
(v',u',a") = deallocate(dlink, paramMap(id), o)

in (v, a, )



